
VOLUMETRIC WEIGHT CALCULATION

For the calculation of the distribution costs you need to considerate the volumetric 
weight, given that: 1m3 = 300 kg.

EXAMPLE FOR CALCULATING THE VOLUMETRIC WEIGHT:

You want to sent a package which weights 10 kg and it has the next dimensions:

High: 20 cm
Width: 40 cm
Lenght: 60 cm

First of all, you should calculate the real volume of the package:

0.20 x 0.40 x 0.60 = 0.048 m3

Then you calculate the volumetric weight:

0.048 m3 x 300 (kg/m3) = 14.4 kg

Thus, the dutiable weight you will obtain will be 14.4 kg and not 10 kg

To calculate the distribution costs, you will need to locate the result of the highest 
weight on our price list; there you will get the equivalent cost. (In the last example 
the weight applied would be 14.4 kg).
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